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EXERCISE 1:
Convert each of the following trees into a binary tree wsts,=a J) Lo

c)

EXERCISE 2:
Write the function height () that calculate the height of a given node. isls)l s iy cusi
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EXERCISE 3:

Using one of the traversal strategies, write the function sum () that returns the sum of all
the nodes of a given binary tree. asuss, =4 ubic cal S goonll s dlls s

EXERCISE 4:
Write the Boolean function complete () thatindicates if a given BT is complete or not.
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EXERCISE 5:

Write the function LCA () that calculates the lowest common ancestor of two given nodes.
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